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Ol &k Xb== 0 =0l &t
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— E9| 1t 2,500& *6IH *450MI CH = 6,750
— 2J|& 2,000& x4 x450MI CH = 3,600
OstZACHE FHIIS 2982 778 #¢ 4,656
-4 = 1,230 %x302.44 *8IHOI2 = 2,976
- Fes 1,440@ %145 .80 *BIOIS = 1,680
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20158 & | 1,333,038 | 1,115,924 0 0 170, 46,223 | 583, 21,361 749,334
20168 = | 2,613,312| 2,438,040 0 0 136, 38,451 602, 9,290 2,010,393
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2018 = | 1,529,898 | 1,281,598 0 0 203, 45,000 705, 0 824,454
201949 &= 853,280 | 604,980 0 0 203, 45,000 | 1,114, 0 A261,066
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Al 9,771,759 10,596,213 10,335, 147 A 261,066
Ol XI =2 EN | 9,771,759 10,596,213 10,335,147 A 261,066

224 9,771,759 10,596,213 10,335, 147 A 261,066




